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1 SEINA 10,500,000  10,800,000| A 300,000|k A& B DOBEREIZLHEIN
2 HEA 2,550,000 2,650,000 A 100,000
MY SERIA 2,100,000 2,100,000
BEEEHERH A 300,000 350,000
M- i Bk F o 150,000 200,000 BB LRLTHEHORD
3 M A 150,000 500,000] A 350,000
LHNA BT 13,200,000f 13,950,000 A 750,000
RITEARR BN X 250 11,678,793 8,774,885
& 24,878,793| 22,724,885
[ZHDE]
# T B B |MFEETEHE 1 =
1 & X & 11,250,000/ 11,637,982 A 387,982
kB Ae okt 2,400,000 2,400,000 okt B, RAARIES
ENEES 1,000,000 1,250,000] A 250,000|Farstt Bkt
(ERIERESE - 400,000 400,000 HREEFAES
SHE 100,000 100,000 HEs HELHE. RER
LR R E 400,000 400,000 H= o — AR R
BT EE 150,000 200,000 HATTER ., HRRE
BEERE 550,000 550,000 HTEENR, BEE, Foh-U—2pt
HElEmE 30,000 30,000
HFELE 500,000 567,982 A 67,982|A T HbTEA, =" — R
ErEE 180,000 120,000 60,000| A AEERI, BEAREA
N A& 120,000 100,000 U — R
BREHE 30,000 30,000 0| oAk
LB B 120,000 120,000 o|ES. #=, AKER
=i 150,000 150,000 O|BELLHERARA
RRRA} 80,000 80,000 EEEXE
FHHie 700,000 700,000 O|s#emgiL e
FABLAR 40,000 40,000 W ELE=])
XER - ERRTEENE 900,000 900,000 O|=#En, BERA, SV ANAEA
HERSE 1,000,000 1,100,000 A 100,000 |#E T %Ak, HAy—
B 0 0 0
HE ¢ 200,000 200,000 0| F 5kt
RERE 1,000,000 1,000,000 0|38 1E B 55 % = % 1%
WiE= 1,200,000 1,200,000 0| Bk RS, FEBARBKES ., IS %
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2 EBE S F 5,525,000 5,710,000 A 185,000
= s 1,600,000 1,600,000 Olsakh, @B, HIRANARASL
REFESES 850,000 950,000| A 100,000 |ERFFAL B AR
EFELEE 300,000 300,000 OltrEETHES
SHE 1,200,000 1,200,000 Olps, BmES B RAEBERSHS
IRE R EE 100,000 100,000 0|4t B HERIRE . XBE
BIEERE 350,000 350,000 EEAVES: I
HHERmE 100,000 100,000 E=ZZalE I
HFER R 50,000 50,000 O|etta, 7V —1r o5
ERE®E 350,000 350,000 | EVEVZ-C NAVENI A 2o
FRI A 0 0 0
PRELR 50,000 50,000 OlkT R
JEEOKE 100,000 100,000 olms. A, AERK
= {ires 100,000 200,000] A 100,000|=t—HFEF)—2
PR 30,000 30,000 0[k st
FRLAR A ER 30,000 30,000 O[EAERR
ELE 165,000 150,000 15,000 | &l s ERAGS %, 155 LB Fi0H
MEE 50,000 50,000 | =
22 S ¢ 100,000 100,000 OlFBAR. MU yhrt—/—5
3 & f & 0 0 0
4 & i & 7,300,000 0 7,300,000

HEA RIS R AR & 5,500,000 0 5,500,000

YN 1,000,000 0 1,000,000

1 i A HE(R R ST 4 800,000 0 800,000
5F i & 803,793 5,376,903 A 4,573,110

& &t 24,878,793 22,724,885 2,153,908
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